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e Suppose we have the following fitted model:

For illustration, assume 'weekend' was originally a categorical feature with two possible values, 'Yes' or 'No".
H(x) =1+ 2 - (weekend==Yes) — 2 - (weekend==No)

e This is equivalent to:

H(x) =10 — 7 - (weekend==Yes) — 11 - (weekend==No)

« Note that for a particular row in the dataset, weekend==Yes + weekend==No is always equal to 1.
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In 1b5]: stdscaler.var_

Out[65]: array(I 3.89, 35191.58, 13.72, 25.44, 23.08])

e If needed, the fit_transform method will fit the transformer and then
transform the data in one go.

In [66]: new_scaler = StandardScaler() /\ ‘ﬁr{se \/"QN\LQ

N A“‘ ?
In [681: stdscaler.fransform(sales.iloc[:, 1:].tail(5))

Out[6 : array([[-1.13, -1.31, -1.35, -1.6 ,/°0.89],
0 0.14, ©.39, 0.4 , 0.32,<;:;;D

ws[,o 09 -0.03, 0.46, ©.36, -0.571,

o 0\” & . 1.e8, 1.5, 1.19, -1.61],
[ 2 67 0.69, -0.3 , 0.46, 0.05]])

In [6 _transform(sales.iloc[:, 1:].tail(5))
)zf[s -1.33, -1.79, -1.71, -1.88, (1.48],>

)( -0.32, 0.28, 0.43, 0.19, /
g ‘ -0.36, -0.24, 0.49, 0.23, -0.31],
[ .29, 1.11, 1.22, 1.13, -1.58],

(oW [ 1.71, 0.64, -0.43, 0.34, 0.461])
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